### CH. SARWAN KUMAR HIMACHAL PRADESH KRISHI VISHVAVIDYALAYA RICE & WHEAT RESEARCH CENTRE, MALAN

No: QSD/RWRC/(4-48/2024/ 718-47

Dated:-- 0|.0|.2025

### **Auction Notice**

It is for kind information of all concerned that the unserviceable store/ Lab articles will be put to public auction on **24.01.2025** at **11.00AM** in the premises of Rice & Wheat Research Centre, Malan. Therefore, the interested persons/ parties for the purchase of these articles may attend auction on the schedule date, time and vanue as mentioned above.

### Terms and condictions of the Auction

1. The auction committee reserved the right to reject any bid without assigning any reasons thereof.

2. The amount of the higest bid will be accepted by the committee and amount

have to deposit on the spot.

- 3. The material will have to lift immediately after which responsibility of the department ceases.
- 4. Other terms and conditions will be announced at the time of auction

5. The unserviceable articles will be put to auction in one lot

6. Security amount of Rs. 500/- will be charged (refundable) from every bidder before entering the bid.

Scientist Incharge RWRC, Malan

Copy of the above is forwarded to the following for information and necessary action

1. All the statutory officer, CSKHPKV, Palampur

- 2. All the Head of the Department, CSKHPKV, Palampur
- 3. The Comptroller, CSKHPKV, Palampur

4. All the Kabaries of nearby area

- 5. Incharge, UNS, CSKHPKV, Palampur with request to upload the notice in university site for wide publicity. copy of unserviceable lists are also enclosed herewith
- 6. Store Incharge, RWRC, Malan with request to direct to store staff to prepare for the auction

Scientist Incharge RWRC, Malan

SB-IV Vol. II Invt. No. 344

	Sr.	Particular/Item	Entry/Page	Rate	Date of purchase	Qty.	Amount
1	No. 1.	Multimedia speaker 400 wt	1/2	865	23.03.07	1	865
-	2.	11.01.01.1.1	2/3	2394	15.02.10	1	2394
-	3.		1/5	350	28.03.08	1	350
-	4.		1/7	350	28.03.08	1	350
-	5.	Mike grip	1/8	35	28.03.08	1	35
	6.	Laser Fax Machine Model 2820	1/14	14550	17.12.08	1	14550
	7.	Collar and hammer	1/15	350	11.12.01	1	350
	8.	Tripod Stand	1/19	22	11.02.09	3	66
	9.	Moisture Box	2/29	14	20.11.02	42	588
	10.	Scanner HP 2200CC	1/32	540	20.12.01	1	540
	11.	UPS 625 KVA (Pyramid make)	1/33	4776	10.03.02	1	4776
	12.	Computer 15"(P3) with	1/34	31500	16.03.02	1	31500
		accessories	2/34	48500	25.03.02	1	48500
	13.	Computer Table 135x75x83	1/135 .	9120	27.01.02	1	9120
	14.	Computer Chair	2/36	3610	27.01.02	1	3610
	15.	Colour Inkjet Printer HP 970ex1	1/37	1690	29.11.01	1	1690
		Hot air oven(455x455x455)	1/42	9500	01.01.03	1	9500
		(**************************************	2/42	177.25	01.01.80	1	177.25
:	17.	Table	1/60	1500 950	28.03.02	·2	2450
	18.	Autoclave (40l Cap)	1,2/70	48628	30.12.09	1	48628
1	- 7	JPS-online .05 KVA/UPS Battery Racks & Link	1/71	91050	09.12.09	14	91050
2	0. Ir	on cum glass chamber 'x2.9'x3.9'	1/100	2990	01.02.93	1	2990
2	1. S	lide cabinet for 500 slide	2/131	250	30.03.09	4	1000
22		igital balance precia 505 M 020C	1/175	59940	28.03.05	1	59940
23	1	P 2120 PSC(Printer cum	1/177	4500	07.03.08	1	4500
24	pro pa PC		1/181	95737	01.02.07	1.	95737
25	. Dis	ssection	1/191 .	120	20.02.13	1	120
26.	Ex	tension Board	1/194	320	17.01.14	1	320
27.		ect collecting net with ndle & telescope	1/208	1950	02.12.16		1950
28		ray pump (2 liter cap.)	3/209	195	02.12.16	3	195
		rew augar	1/20	770			
30.		st hole augar	1/21		30.03.02		770
00.	. 0.	ot noic dagai	1/21	1150 1480 1760	30.03.02	3	4390
31.		e sampler	1/23	Nil (received from Agro India, Calcutta)	11.02.19	1	0
32.		isen burner with stopcock	1/27	140	12.12.02	1	140
33.		ension board	5/194	320	17.10.14	1	320
34.		ibit panel	10/134	3949 .	22.11.07	2	7898
35.	Inse	ect storage box	1/135	875	27.01.01	1	875

ニュコ	.≍	e e	
7 7 3	2	5.0	
	Se		
7 2 8	5	3.45	
Spirite Colonia	and the left of his		

			12.07.01	1	1555
	1/136	1555	25.02.02	2	23676
36. Steel rack	1/38	11838	02.07.03	1	297
36. Steel lack 37. Soxhiet extraction unit	1/140	297	04.04.08	1	200
- D-10000	1/148	200	13.02.08	1	490
38. Balance 39. Cello thermos 1 ltr. Cap	1/159	490	08.01.08	1	4400
40. Camera lucida	1/176	4400			482852.25
41. UPS					
Total					

### **Certificate of Physically Verification Committee**

- 1. Certified that permanent/ store articles from Sr. no. 1 to 41 valued Rs. 482852.25/- have become unserviceable due to normal wear and tear and the officer/ official is not responsible for become
- 2. The above-mentioned articles are absolutely unserviceable and have out lived their life due to normal wear and tear.
- 3. The above-mentioned articles from Sr. No. 1 to 41 are verified by us and found unserviceable. Hence recommended for disposal through public auction.

Signature of committee: -

1. Dr. (Ms.) Vijay Rana, Principal Scientist
2. Dr. (Mrs.) Neelam Bhardwaj, Scientist
3. Sh. Vijay Kumar 100 (IT)

3. Sh. Vijay Kumar, JOA (IT)

item is available in this list will can be reused by this office dup there recommended for dispose plane. Submitted to the Scientist Incharge, RWRC, Malan for further action please.

**RWRC** Malan

Distt. Kangra (HP)-176047

Assistant Engineer (Ele SKHPKV Palampur

# List of unserviceable articles laying in store RWRC, Malan during the physical verification 2023-24

### PASB-5 Vol. II

			T D . 4 =	Amount	E/P	Date of
Name and Address of the Owner,	Name of the articles	Qty.	Rate	Amount	_, .	Purchase
Sr. No.	Name of the		207000	397000	1/77	29:03:2011
	Dryer	1	397000	31.30	1/86	09.06.1987
2.	Cono weeder	1	31.30	6.60	1/87	02.08.1965
3.	Tin board plates 7x6"	33	0.20		1/132	19.09.2015
4.	Grass chopper	4	210	840	4/135	11.03.2016
5,	Iron tray size 10x80x2"	20	91	1820		23.02.2016
	Iron board size 9x5" with stand	15	50	750	1/136	15.03.2003
6.		2 .	60	120	3/92	
7.	Spade	1	200	200	6/144	13.03.2018
	1/1 1/2	4	120	480	1/147	18.03.2019
8.	Khutti	13	35	455	2/148	24.03.2020
9.	Sickle	1	48.60	48.60	2/76	07.07.1997
10.	Iron bucket			4343	1/127	02.09.2008
	Silpaulica 200 GSM	1	4343	4343	1/2-	
	multilayered blue sheet				1/11/	28.03.2002
12.	Self-priming pump aluminums	1	20500	20500	1/114	28.03.2002
	petrol kerosine oil	•				1000
13.	Solar water lifting pump	1	250000	250000	1/103	24.04.1998
	G. Total			-676594.50	•	Administration (Ballier
	0.1000		1	279594.	50	

**Certificate of Physically Verification Committee** 

1. Certified that permanent/ store articles from Sr. no. 2 to 13 valued Rs. unserviceable due to normal wear and tear and the officer/official is not responsible for become articles unserviceable.

2. The above mentioned articles are absolutely unserviceable and have out lived their life due to normal wear and tear.

3. The above-mentioned articles from Sr. No 2 to 13 are verified by us and found unserviceable. Hence recommended for disposal through public auction.

Signature of committee:-

1. Dr. D.P. Pandey, Principal Scientist

2. Dr. (Ms.) Vijay Rana, Principal Scientist

3. Sh. Subhash Chand, Driver

Submitted to the Scientist Incharge, RWRC, Malan for further action please.

Seen

Diate Kangra (HP) -176047

## List of unserviceable articles laying in store RWRC, Malan during the physical verification 2023-24

### **SB-II Permanent Articles**

		Qty.	Rate	Amount	E/P	Date of
Sr.	No. Name of the articles	Qty.	,,,,,,			Purchase
	· · · · · · · · · · · · · · · · · · ·	1	9500	9500	1/50	08:11.1982
	1. Sonalika Multicrop power thresher	1	3300			,
	with engine 5 HP	5	23	115	1/70	15.06.1985
2	2. Seed Germination iron tray		275	550	1/83	30.03.1990
3	. Chair full arm	2		230	2/98	23.04.2015
4	. Locks	2	115		1/102	16.03.2005
5	Exhibit panel for indoor (size	1	1166.40	1166.40	1/102	10.03.2003
	120x60cm)				11.51	05.00.000
6.		1	86.50	86.50 .	1/131	25.06.2000
<del></del>		4	80	320	2/151	30.03.2007
78.	Computer chair with arms, cushioned	1	3073	3073	2/157	20.03.2007
, o.	seat and back					
9.	Office writing table size (1200x	1	2244	2244	2/158	26.03.2007
9.	760mm) with 3 drawers on the right-	_				
	side locking with sunmica top	-			1/222	26.03.2007
10.	Digital electronic balance cap 6kg	1	2475	2475	1/222	
11.	Stamps	4	40	40	1/14	24.09.2002
			40	40		
			30	30		
			30	30		
12.	Vertical filing cabinet Godrej	1	12632	12632	1/231	30.03.2010
	G. Total			32531.90		

#### **Certificate of Physically Verification Committee**

- 1. Certified that permanent/ store articles from Sr. no. 1 to 12 valued Rs. 32531.90/- have become unserviceable due to normal wear and tear and the officer/ official is not responsible for become articles unserviceable.
- 2. The above mentioned articles are absolutely unserviceable and have out lived their life due to normal wear and tear.
- 3. The above-mentioned articles from Sr. No. 1 to 12 are verified by us and found unserviceable. Hence recommended for disposal through public auction.

Signature of committee:-

1. Dr. D.P. Pandey, Principal Scientist

3. Sh. Subhash Chand, Driver

Submitted to the Scientist Incharge, RWRC, Malan for further action please.

RWRC, Malan

Distt. Kangra (HP) -176047